                      TEST #2
Ch 115                           



Name___________________________

Dr Oakes

Part I  Multiple Choice.  Four points each. Be sure to answer every question, even if it is a guess!

1.  What is the mass of 0.450 moles of carbon suboxide (C3O2)?

     
a. 6.62x10-3g                   
c. 1.48x10-2g

     
b. 30.6g                       
d. 68.1g

2.  Which is not true about the gram molar mass of a compound?

a. It is always bigger than one, no matter the compound.

b. It is the conversion factor between the number of moles and the number of molecules for a 

    compound.

c. For a particular compound it is the same, no matter how much of the compound you have.

d. It is the conversion factor between grams of a compound and moles of that compound.

3.  A compound is found to have an empirical formula of C4H7N.  It has a GMM which is measured 

     to be between 205 and 210 g/mole.  Its molecular formula is;

       a. C8H14N2            b. C12H21N3                  c. C10H19N5               d. C20H35N5
4.  Which compound, of those below, is a strong acid.

a. KOH

b. HNO3

c. HClO2  

d. NH4OH

5.  Which compound is insoluble in water?

     a. Cu(OH)2               b. (NH4)3PO4                 c. K2SO4               d. Fe(NO3)3
6.  For a nation in deficit, what is the best way to balance the budget?


a. raise spending, raise taxes


b. cut spending, cut taxes


c. raise spending, cut taxes


d. cut spending, raise taxes

7.  For the reaction described by the balanced equation below:



AsCl3   +   3H2O    (    H3AsO3  +   3HCl.

      How many moles of AsCl3 are required to completely react with 1.50 moles of water?

a. 0.50 moles


c. 1.50 moles


e. 4.50 moles

b. 1.00 moles 


d. 2.00 moles  



Part II  Nomenclature.  Three points each.

Name the following compounds:

8. CH4 _______________________________

9. SBr4 ________________________________

10. Ca(OH)2 ________________________________

11. Pb(SO4)2 _________________________________  

What is the formula of the following compounds?

12. Aluminum oxide _____________________

13. Cuprous sulfate _____________________

14. chlorous acid ____________________

15. chromium(III)bicarbonate ____________________ (ex cr)

Part III  Short answer.  

16.  What is the definition of a strong acid? (4 pts)

  Classify the following reactions using the categories learned in class. (3 pts each)

17.    CaBr2(aq)  +  H2SO4(aq)  (   CaSO4(s)  +  2HBr(aq)

18.    Mg(s)  + 2AgNO3(aq)  (   Mg(NO3)2(aq)  +  2Ag(s)

19.  H2SO3(aq)  +  NaNO2(aq)    (   HNO2(aq)  +  NaHSO3(aq)

20.  2Fe (s)   +   3Br2 (l)   (    2FeBr3 (s)

Part IV  Balancing equations.  Four points each.

Balance the following equations using integer coefficients.

21.      S8(s)  +     Al(s)   (       Al2S3(s)

22. (ex cr)      C5H8O  +     O2   (                         

(products left off on purpose)

23.  Complete the acid/base reaction;

      

HC5H8O2  +   ClO2-  (     

Complete the following reactions.  Remember that NR is a possible answer.  

24.  nitric acid  plus sodium hydroxide  (
25.  Ca(NO3)2(aq)  +  Na3PO4(aq)  (
26.  Cu (s)   +    HCl (aq)    (
Part V   Problems.  Show all your work for full credit.  Points  as stated.

27.  A compound of lithium, sulfur and oxygen consists of 11.1% lithium and 50.9% sulfur.  What is         the empirical formula of the compound?  (7 pts)

28.  What is the mass of 10,000 molecules of carbon tetrachloride (CCl4)? (6 pts)

29.  Quartz crystals can be created according to the unbalanced equation below:

                 SiH4   +    O2  (   SiO2   +   H2O.

     a. If 0.220 moles of silane (SiH4) were reacted with 0.580 moles of  oxygen, how many moles of 

         silicon dioxide would be produced?  (7 pts)

       b.  If one were to burn 550 kg of silane, what would be the expected yield of silicon dioxide?

(4 pts)

       c. In this case, (case b) if one actually were to collect 924 kg of silicon dioxide, what would be 

the per cent yield? (3 pts)

       d.  For the same reaction, if one were to mix 50 g of silane and  120 g of oxygen and cause them 

            to react, what would be the expected yield of silicon dioxide? (7 pts)

     e. ex cr.  For the same case as d., what would be the amount of each reactant left over? 

